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No. of Questionsllir.IT 'Il\ ~ : 100 

No. of Pages for Questionsllir.IT <I> 'j'Ol' 'Il\ ~ : 27 

Time: 21 Hours 1 [ Full Marks: 300 

[~:300 

Note: (1) This question booklet contains 100 (hundred) questions in all 

(30 in Section - A and 70 in Section - B). Attempt as many questions 

as you can. Each question carries 3 marks. One mark will be 

deducted for each incorrect answer. 

Zero mark will be awarded for each unattempted question. 

~ w.1 gffct"" ij 'llR 100 «l\) w.1 # ~ - aT it 30 q ~ - • ij 70) , 

~ lI1Rf ~ "" m <liT J:r1I<'1 <IR I ~ w.1 3 3iq;- <liT 1\ I ~ 
7fC'fff i3'l'I<" <t ~ '1'fi 3t<ti 'IifC{ fiTI7PTr I ~ '" j'<1 R" w.1 <liT =i<Ii 

'Z"T oPrr I 

(2) If more than one alternative answer seem to be approximate to the 

correct answer~ choose the closest one. 

'!fit ~ ~",fi:q", 'OW ffift 'OW <i> f.1<!>c: ;jj <it f.'I"''''''1 ffift ,=, ~ I 
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SECTION-A 

~-31 

1. The concept (idea) of Pace-Setting School was first given by : 

(1) National Policy on Education-1986 

(2) Revised National Policy on Education-1992 

(3) National Council for Teacher Education 

(4) University Grants Commission 

'lf1r-~ ~ .. """ q\j 3l'I>lR"IT ~ ~ q\j 7f{ .rt : 

(1) ~ tmn -.ftf<r-1986 llffl 

(2) ~ ~ tmn -.ftf<r-1992 llffl 

(3) ~ ,*,,'4" tmn ~ llffl 

(4) ~ ,q ~ .. "'I " 3l:JGT'I 3lIllTrr llffl 

2. In a day how many times the hands of a clock are coincident? 

(1) 22 (2) 24 (3) 30 (4) 25 

3. Indira Gandhi National Open University (IGNOU) was established il 

(1) September,1995 (2) September, 1985 

(3) October,1985 (4) October, 1990 

;;'ftm lJi.rt ~ "TRI ~,q~",,,,, «'1l q\j ~ ~ .rt : 

(1) f~Id"", 1995 1'( 

(3) ~,1985 1'( 

(2 ) 

(2) f~Id'<i', 1985 1'( 

(4) ~,1990 1'( 
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4. District Primary Education Programme (DPEP) was started in : 

ftrRr lIl>lfi'rq; ~ "",\",,, (>lto <lto ;fo <lto) -.it fil>'f qc\ >t <fl'). f<l>m lJ'IT "IT : 

(1) 1990>t (2) 1991 >t (3) 1992 >t (4) 1994 >t 

5. New Millenium Curriculum-2000 was prepared by : 

(1) National Council of Educational Research and Training (NCERT) 

(2) University Grants Commission (UGC) 

(3) National Council for Teacher Education (NCTE) 

(4) Central Advisory Board of Education (CABE) 

'flIT 1lI<i11l1~" q""\~"'''-2000 ~ ilffl m f<l>m If'ir "IT ? 

(1) ~ ~ "':lti'll'1 'fO' lffuRur ~ ('flo '!lto ;fo 3lNo ito) ilffl 

(2) flI."flI"",,~ 3ljGR ~ ("0 ;;!to '!lto) ilffl 

(3) ~ 31Uf[t[<p ~ ~ «Ao '!lto ito ;fo) ilffl 

(4) ~ ~ .,""il"'" 'BflIfl'r t;fio ,/0 <lro ;fo) ilffl 

6. One of the following options indicates number of Central Universities in India: 

(1) 15 to 25 (2) 26 to 35 (3) 36 to 45 (4) More than 45 

Ill..., ror R; d >t "it '!'I' "IR"d" >t ~ flI." flI" 1 "'" 1 q\\ ~ Gfi % : 

(1) 15 "it 25 (2) 26 "it 35 (3) 36 "it 45 (4) 45 "it "'lfGT 

7. President of the Review Committee' (1990) for National Policy on Education 

was: 

(1) Prof. C. N. R. Rao (2) Dr. Vidya Nivas Mishra 

(3) Dr. Sukhdeo (4) Acharya Ram Murti 

~ ~ oftf1r q\\ ~ 'BflIfl'r' (1990) <f; 31UI1ff o! : 

(1) >ito '!lto 'flo 3lNo WI' (2) ;No f!mr f.'r<rR! 11'r'll 

(3) ;No 1l"'~" (4) 3lfTl1'! ""'lfll 
(3) P.T.D. 
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8, Full form of 'NAAC' is : 

(1) National Achievement and Accreditation Council 

(2) National Assessment and Accreditation Council 

(3) National Assessment and Applied Council 

(4) National Assessment and Accreditation Commission 

''!fiIi' (N AA C) "" 'l:"f 'WI ~ : 

(1) ~ <3q",~ <r<i IIfI1l~1 qfffi; 

(2) ~ 'l:""; "'" <r<i II fI1l ~ 1 qfffi; 

(3) ~ 'l:"";"'" <r<i Oi111g<ttl qfffi; 

( 4) ~ 'l:""; '" 1 <r<i II fI1l ~ 1 3!Mrr 

9. 'Midday Meal Scheme' for promotion of Primary Education was started on : 

(1) 15th August, i995 

(3) 8th September, 1995 

(1) 15 3l'ffi!, 1995 oi'r 

(3) 8 Rift"", 1995 oi'r 

(2) 26th January, 1995 

(4) 5th September, 1995 

(2) 26 ~, 1995 oi'r 

(4) 5 Rift"", 1995 oi'r 

10, 'National Council for Teacher Education' (NCTE) was established in the year 

~ 3!UI1'fiI> fmlr qfffi;' ('flo ~o ito ~o) qj) ~ ~ <r<! ~ olT ? 

(1) 1986 (2) 1973 (3) 1992 

11, Which of the following will go with the series? 

f.'r9 if ,'t oi'r1 ." .,jujj * 'l1"l "lTIf'lT ? 

121, 225, 361, ? 

(1) 441 (2) 484 (3) 729 

( 4 ) 

(4) 2000 

(4) 529 
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12. In a certain code language 'POLISH' is written as 'MLIFPE'. How will 'DIG' be 

written in that code? 

'If<: f<!Rlt <1i<l;f(1", '11'fT fj 'POLISH' q;j 'MLIFPE' ft:rm iJffi!T t. <it 'DIG' q;j ~ 

'11'fT fj -$x't ft:rm "l1'T'TT ? 

(1) AFD (2) BGD (3) EHF (4) ZFD 

13. In a row of trees one tree is fifth from either end of the row. How many trees are 

there in the row? 

"mr q\\ 1f<I' "i!>i'i"R ~) fj 1f<I' ~ "i!>i'i"R <f; ~ ftR -,'\ ~ "'-TR 'R t I "i!>i'i"R fj 

f<mR'Ied' ? 

(1) 8 (2) 9 (3) 10 (4) 11 

14. If 18th February, 1997 falls on Tuesday, then what will be the day on 18th 

February, 1999 ? 

(1) Monday (2) Tuesday (3) Thursday (4)' Friday 

'If<: 18~. 1997 q;j ';'1*'1< 'IT. <it 18~. 1999 q;j 'llR-w ~ o1lfT ? 

(1) tileql< (2) "'I'1ql< (3) '.J"'IR (4) 'tl",ql< 

15. If English alphabets are written in reversed order, then from the left which letter 

will be seventh letter to the right side of twelfth letter? 

'If<: ~ .Olel'11 q;j ~ ..,... fj ft:rm "fT1I. <it 'II<ff 3I'R -,'\ 12"ij 3l&R <f; 'II<ff 3I'R 

<m!<iI 3l&R 'llR-w o1lfT ? 

(1) H (2) V (3) E (4) S 

( 5 ) P.T.O. 
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16. Find out the missing number: 

? 2 

3 

9 5 

(1) 23 (2) 30 (3) 29 (4) 33 

17. If the day before yesterday was Saturday, what day will fall on the day after 

tomorrow? 

(1) Tuesday (2) Wednesday (3) Thursday (4) Friday 

(2) ~ (3) 'J<"lR (4) 'il"'.1< 

18. Pointing to a man in photograph, a woman said, "His brother's father is the only 

son of my grandfather." How is the woman related to the man in the 

photograph? 

(1) Mother (2) Aunt (3) Daughter (4) Sister 

'l'P ~ q\j ~ q\j 31R ~ m S'1 'l'P 3lR<! -;t <Pm, "~ ~ <PI fi«rr ~ 

GTGT ;:;ft <PI ~",oftd I S'! % I" iffi ~ <mit ~ oR 3lR<! <PI </<IT ~ % 7 

(1) <iT (2) fl (3) ~ (4) 'ilR 

( 6 ) 
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19. Amit walked 30 meters towards East and took a right turn and walked 4Om. He 

20. 

again took a right tum and walked 50 m. Towards which direction is he from 

his starting point? 

(1) South (2) West (3) South-West (4) South-East 

3lfim ~ <il\ 31'R 30 ~ ""1<'11 <I'IT ~ 31'R "!fiIT 31'R 40 ~ ""1<'111 'I""t' "TI: ~ 

31'R "!fiIT <!'IT 50 ~ ""1<'111 'I""t' 3l'l"t "I<fi'>l," "{'If'! ~ filR! ~ it ~ ? 

(1) Gfalur (2) ~ (3) Gfalur-~ (4) Gfalur-~ 

Car : Garage: : Aeroplane: ? 

(1) Port (2) Depot (3) Hanger (4) Harbour 

q>f( : "i\<ror : : qlg~I" : ? 

(1) me (2) futit (3) ~ (4) 00 

21. On which institution, the responsibility of higher education in India depends? 

(1) University Grant Commission 

(2) Ministry of Human Resource Development 

(3) Central Advisory Board of Education 

(4) National Council of Educational Research and Training 

(2) 'lR'I ~ f<t<t>ffi "'" 1<'1" qi[ 

(3) ~ m «<'II!!,"I< ~ qi[ 

(7) P.T.o. 
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22. Efficiency of a Principal depends mostly upon: 

(1) maintaining good relationship with students 

(2) maintaining good relationship with teachers 

(3) maintaining good relationship with parents 

(4) maintaining good human relationship 

11'1' ~~ I 'Hill >l "Itt 'll" "'" I "S<I '!l" f.riR .mfr ~ : 
(1) ~ <i; ~ 3lW W'I'<I "iI"'!T1< "ffiI""t '" 

(2) 3lUIT'I1lit <i; ~ 3lW W'I'<I "iI"'!T1< "ffiI""t '" 

(3) ~ <i; ~ 3lW W'I'<I "iI"'!T1< "ffiI""t '" 

(4) 3lW "'1 <II " W'I'<I "iI"'!T1< "ffiI""t '" 

23. An ideal teacher is one who: 

(1) covers the full course (2) helps students in learning 

(3) is a friend, philosopher and guide (4) likes discipline 

11'1' ~ fWq; 'IE" t ;;;it flI> : 

(1 ) ~ q Ii"" '" " q;') 'l.'f <!R<IT ~ 
(3) flr.;r. ,,,,fA,,, '!'i ",·f~'II", limr ~ 

(2) UBiI"Itt~ If «.,''"' <!R<IT ~ 

(4) 'li:l<"«1R1" limr ~ 

24. What will you do, if you are not selected for B. Ed. ? 

(1) Leave the desire to be teacher 

(2) Search for some other profession 

(3) Reappear in examination for B. Ed. 

(4) Tell the people demerits related to selection 

~ 3lT'I q;r iI"1R <lte 'f'Se <i; 1m[ ..,-,jf S3". <it 3lT'I 'flIT m 7 

(1) fWq; N;f "Itt 3l'l'1T ~ q;r <'IJ1T 'if>'{ ~ 

(2) ~ 3RI "'<1«1" "Itt 'dOIT<T m 
(3) <lte 'f'Se <i; 1m[ Tf: tRll!!T ~ 

(4) iI"1R «'" '<fr q;ji:rti\ oitll'f q;') ~ 

( 8 ) 



MSEBIl 05/18 (Set -'1" 
25. What will you do as a teacher, if the students do not attend your class? 

(1) Know the reasons and try to remove them 

(2) Think of using some interesting methods of teaching 

(3) Keep quiet, considering the present attitude of students as the change of the 

culture 

(4) Blame the students for their absence 

mit <lT51 3INiIl\ <m!lT if ~ 'llff Nil, <it "'" fmlq; <l> ~ if 3IT'I 'f'!T m ? 

(1) 'I>R"if i1i'r w-fit olR ~ <;;1 m Q>T W!ffi m 
(2) ftJ&!ur '1fT <glJ ",R\"" ~ Q>T l!<IT<r m <l> fu'<r ~ 

(3) '"'tRl if qRoff., <l> Q>l'(Uf, m * ~ ~~",i" i1i'r U!R if m s<: 
m'<! WT 

26. -Why do you want to be a teacher? 

(1) To pass time 

(2) To receive salary 

(3) Your friend is a teacher 

(4) You like teaching and enjoy functional interaction with the students 

3IT'I "'" fmlq; 'I'ir 'f'f'!T ~ t' 7 

(1) 'ff'[l! ~"'''~ <l> fu'<r 

(2) i«R IlT'<l m * fu'<r 

(3) Wt'RT flr;r "'" fmlq; t 

(4) WI ~ ~ <Iffi! 61 = f<1""f'l"1 <l> <nW flI>lIli<1q; 3Rf:fJmrr Q>T 3lR"'G 

'ffit61 

( 9 ) P.T.O. 
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27. In order to win the trust of students, the teacher should behave with them like: 

(1) Mother (2) Friend (3) Teacher (4) Father 

~ <Pf 14." ,<1 ;;;fuR <f; ~, fmlq; <i5'r ~ W1! f?p,,<6j <RO '1ZI<T01< <PVfT 

~? 

(1) l1RiT (2) fi1?r (3) fmlq; (4) fil<rr 

28. "The individual develops through the head, the heart, and the hand," This was 

the Educational Philosophy of : 

(1) Pestalozzi (2) Comenius (3) Froebel (4) Herbart 

(2) ",~f.'I "" <Pf (3) ~ <Pf (4) ~ <Pf 

29. Which one of the following is the focal point of the entire teaching system ? 

(1) Knowledge (2) Student (3) School (4) Teacher 

(1) >fA (2) fu!T>ff (3) 14",,,,~ (4) fmlq; 

30. Which characteristic from the following is least connected with a teacher? 

(1) Effective verbal communication (2) Good rapport with the students 

(3) Respect from political leaders (4) Command over subject matter 

( 10 ) 

MSEBI1 05118 (Se1- II) 

27. In order to win the trust of students, the teacher should behave with them like: 

(1) Mother (2) Friend (3) Teacher (4) Father 

~ <Pf 14." ,<1 ;;;fuR <f; ~, fmlq; <i5'r ~ W1! f?p,,<6j <RO '1ZI<T01< <PVfT 

~? 

(1) l1RiT (2) fi1?r (3) fmlq; (4) fil<rr 

28. "The individual develops through the head, the heart, and the hand," This was 

the Educational Philosophy of : 

(1) Pestalozzi (2) Comenius (3) Froebel (4) Herbart 

(2) ",~f.'I "" <Pf (3) ~ <Pf (4) ~ <Pf 

29. Which one of the following is the focal point of the entire teaching system ? 

(1) Knowledge (2) Student (3) School (4) Teacher 

(1) >fA (2) fu!T>ff (3) 14",,,,~ (4) fmlq; 

30. Which characteristic from the following is least connected with a teacher? 

(1) Effective verbal communication (2) Good rapport with the students 

(3) Respect from political leaders (4) Command over subject matter 

( 10 ) 



MSEBI105118 (Set -II) 

SECTION-B 

31. When did the congress adopt complete independence as its goal? 

(1) 1925 (2) 1927 (3) 1929 (4) 1931 

32. Who established the Indian Muslim League? 

(2) Hasra! Mohani (1) Md. Ali Jinnah 

(3) Salimullah Khan (4) Syed Ahmad Khan 

'1"01" ~ ol\Tr q\\ ""'4'1' ~ q\\ 7 

(1) >ito 3lOfi fW;n 

(3) ",oft!!""". <sit 

(2)~~ 

(4) ~ _ i!llR 

33. In which Session of the Congress there was a split between moderates and 

extremists? 

(1) Bombay (2) Calcutta (3) Sural (4) Ahmedabad 

q;ijffi <i; f'ilffi ~ if 'WI 3il< "'R'! <rRI <i; ~ fl1'1I'" '1 S"lT 7 

(1) ~ (2) ""","'ill (3) ~ (4) 310'1""'" 

34. Where was the First Session of Indian National Congress held in 1885 ? 

(1) Calcutta (2) Bombay (3) Pune (4) Madras 

1885 if 'lffift>l ~ q;ijffi "¢T l!"lTl ~ f'ilffi 'f'R if S"lT 7 

(1) 'I'Wh'i1T (2) ~ (3) 'f:lT (4) 1JlITt1 

(11) P.T.D. 
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35. Which Mughal Emperor had a chain with bens hung in his palace for petitioners 

seeking justice to ring? 

(1) Jahangir (2) Akbar (3) Shahjehan (4) Aurangzeb 

fllffi "!J'TO! .,~.". ;'\ 3!1f.t ""Ie,,'! it 'W! <f; ",R'I,f.\'11 <f; ~ >ft<i\ 1f ~ ~ 

<'I'11t oj) 7 

(2) """'" (3) ''''''I.i 

36. On the banks of which river was the City of Vijay Nagar located? 

(1) Van Ganga (2) Kaveri (3) Tungabhadra (4) Krishna 

(1) <R 1frrr (2) ~ (3) ~ (4) '!""IT 

37. Which of the following Sultans introduced reforms in the market system? 

(1) Qutubuddin-Aibak (2) Balban 

(3) Razia Sultan (4) Alauddin-Khilji 

f.'I "1 ~ f&" it 1f fllffi '¥ftR ;'\ 'IT<ilf{ ~ it WlR 0IT'lT 7 

(1) '!l\l.~~H ~ 

(3) ~'¥ftR 

(2) """'" 

(4) 3m ,~1l1'l f& '" <AI 

38. Which Delhi Sultan shifted his capital from Delhi to Daultabad and back to 

Delhi ? 

(1) lltutmish (2) Balban 

(3) AlauddinKhilji (4) Muhammad-Bin-Tughlaq 

fllffi fGoRt '¥ftR ;'\ <ll1Rt ~ fGoRt 1f «)"''',.,~ 3l'R TI' fGoRt "I''l,,,,R,, ql\ 7 

(1) ;0 <'\l'I Ill., (2) """'" 

(3) "'''''~~'1 F&",<AI (4) ~-~-\l""'''' 

( 12 ) 
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39. Who founded the city of Tughlaqabad near Delhi ? 

(1) Ghiyas Uddin Tughlaq (2) Mohammad-bin-Tughiaq 

(3) Firoz Tughlaq (4) Tughlaq Shah 

~ <ff "fl11\q \I'Ii""'I"~ 'JlR q\j ~ fiR! W'fR o't q\j ? 

(1) finlm-",\-<fi"'f \I'Ii"'" (2) ~-f1R-\l'I(,'" 

(3) ~ \1'1(,,,, (4) \I'''''''' '1m.' 

40. Which of the following was the family name of Buddha? 

(1) Tathagat (2) Gautamiputra (3) Gautam (4) Siddharth 

(1) <f1!ITlffi (3) lj\qq (4) ~ 

41. What was the normal form of government during the Vedic Period? 

(1) Monarchy (2) Oiligarchy (3) Democracy (4) Autocracy 

~ """ it ",e'"" 'ITffi'! ~ 'I1R-~ ofi ? 

(1) ""'"?! (4) tI",,.,,;l) 

42. Which Veda was composed first? 

(1) Rigveda (2) Yajurveda (3) Samveda (4) Atharvaveda 

fiR! t<: q\j 'ffl'!T ~ ~ ? 

(1) ?Ir$ (2) ~ (3) ",e~~ (4) ~ 

( 13 ) P.T.O. 
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43. Which of the following metals was probably unknown 10 the Indus Valley 

people? 

(1) Copper (2) Bronze (3) Gold & Silver (4) Iron 

(1) <Ii<rr (2) <nRrr (3) fl-~ (4) offirr 

44. When was the first excavation of Indus Valley Civilization made? 

(1) 1909 (2) 1915 (3) 1917 (4) 1922 

45. Which of the following meetings is called once in the life of a company? 

(1) Statutory meeting (2) Meeting of the Board of Directors 

(3) Meeting of creditors (4) Extraordinary general meeting 

(1) ~WIT 

(4) ~ "'~'''' WIT 

46. What is the minimum number of members for the formation of a public 

company in India ? 

(1) 2 (2) 5 (3) 7 (4) 10 

( 14) 
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47. Financial Accounting does not cover: 

(1) Direct expenses 

(3) Estimated material cost 

~ cl '" i q; '1 <nff '" fI>I ~" <IRffi ~ : 

(1) lI<'IaT "I'it q;'r 

(3) 31:1'1If.1" <WI1ft <'fI1TlI q;'r 

(2) Indirect expenses 

(4) Actual material cost 

(2) 3llR'Ia! "I'it q;'r 

(4) q I'RI F<1 q; <WI1ft <'fI1TlI q;'r 

48. The present Companies Act in India was framed in : 

'lffiI q>[ <r<f>lR 'f>l'Rt ~ "iI"'!T : 

(1) 1947 (2) 1950 (3) 1956 (4) 1972 

49. The main source of Indian Commercial Law is : 

(1) English Law 

(3) Trade Law of the USA 

(1) ~ ",p.,,,'1 

(3) 'l? ~o ,<0 q>[ ""qIRq; ",p.,,,'1 

50. Agreement in restraint of marriage is : 

(1) Void (2) Voidable 

~ 1'[ ",q;lqe ;s"roR q>[ 3I:J'I"l1it<rr ~ : 

(2) Indian Constitution 

(4) Trade Law of Canada 

(2) 11ffifi<r ~ 

(4) ~ q>[ ""qIRq; ",p.,,,'1 

(3) Illegal (4) Legal 

(1) "I'f (2) ",of;fm (3) m (4) ll'l 

( 15 ) P.T.O. 
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51. Cheque is drawn on : 

(1) Third party (2) Bank 

(1) wft'i ~ 'R (2) til; 'R 

52. Registration of partnership is : 

(1) Necessary 

(3) Both necessary and compulsory 

(1) ""<I'~'" ~ 

(3) ",,<IN'" '1'i 3lf.'r<n-.j GRr' ~ 

53. Trade means : 

(1) Buying 

(3) Both buying and selling 

54. Commerce does not include: 

(1) Assembling (2) Buying 

" ,fil, "" ij "fl>1 r~", 'fdf ~ : 

(1) 'Ii",,,'j (2) lP'! 

( 16) 

(3) Debtor 

(3) ~'R 

(2) Compulsory 

(4) Voluntary 

(2) 3lf.'r<n-.j t 

(4) ~t 

(2) Selling 

(4) Exporting 

(2) fltiIm ~ 

(4) f.'rmr ~ 

(3) Selling 

(3) fltiIm 

(4) Seller 

(4) ~'R 

(4) Advertising 

(4) f.l."q'j 



55. The management principle 'Unity of Command' means: 

(1) Receiving orders from one superior only 

(2) One head, one plan 

(3) Chain of superior 

(4) Respects for agreements 

lI'I'U * Rl <i I '" '3lWr q\j 'I'I'ffi' q;r <m<l'I % : 

(1) ~ '!'I' ~ <'r 3lWr 1l1'<! 'IR"'!T 

(2) '!'I' lIt<!, '!'I' ~ 

(3) qft,,;j q\j ~ 

(4) ~ q;r 'ff"lR 

56. Who is known as the Father of Scientific Management? 

(1) Henry Fayol 

(3) Elton Mayo 

(2) Max Weber 

(4) F. W. Taylor 

(2) l1'ffI m <Pt 

MSEBl105/18 (Set -OJ 

(1) ~~<Pt 

(3) ~ 111'iI <Pt (4) 'l'l'o ~o ~ <Pt 

57. How many general principles of management have been propounded by 

Henry Fayol ? 

(1) 12 (2) 13 (3) 14 (4) 15 

( 17 ) P.T.O. 
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58. The first function of management is : 

(1) Organising (2) Planning (3) Controlling (4) Leading 

(1) Wra.r (3) f.'I<i~OI (4) ~ 

59. Which one is not related with international trade? 

(1) BOT (2) VAT 

60. 'Trade Invisibles' means: 

(1) Unrecorded trade 

(3) Smuggling 

(3) TOT (4) BOP 

(2) Trade in military goods 

(4) Trade in services 

(2) ~"i'R\l -Ii "lfI1l< <'\ ~ 

(4) OOW <fiT "lfI1l< <'\ ~ 

61. The difference between Government's total revenue and total expenditure is : 

(1) Revenue deficit (2) Fiscal deficit 

(3) Budget deficit (4) Monetary deficit 

(1) 3!T'l'! mer (2) ""',"I<\1~ mer 

(3) iI"<iI"C mer (4)~mer 

( 18 ) 
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62. 'Stagflation' refers to a situation: 

(1) Inflationary stagnation 

(2) Inflation with rising employment 

(3) Fall in price with rising unemployment 

(4) Deliberate expansion of money 

~llcful.,'I. qg ft<@r # , 
(1) ~"PR' llfil;jj'ltll 

(2) ~ '<'i ~ §3lT xl""", 
(3) ~ ij om '<'i ...at .i!<1c" ,,{1 

(4) ""'1 '!ill 'IR ~ "" f.ffim: 

63. Which of the following does not measure income inequality ? 

(1) Kuznets curve 

(2) Gini coefficient 

(3) Lorenz curve 

(4) % population in different income group 

f.i"! ij "<'r ~-<lT 3lf'I q\j OJ" '11'1 til q\j llT'l m 'I>ffiT 7 

(1) 'il",4«" q;p 

(2) fi'r<1T 'J"Ii<P 
(3) ~ q;p 

(4) fiIf'i1"'I 3lf'I q<f ij % '" 'I fi "" I 

64. To which one of the following does the liquidity trap correspond? 

(1) Labour demand function (2) Consumption function 

(3) Production function (4) Money demand function 

f.i"! ij "<'r fllR'r 1f'I' * <IT>I" tI ''''til Uffi'[ "" i10r # 7 

(1) 'll'l <fM tPoR (2) ~ tPoR 

(4) ~ <fM tPoR 

( 19 ) P.T.D. 
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65. The starting point of Keynes Theory of Employment is : 

(1) Marginal efficiency of capital (2) Propensity of save 

(3) Effective demand (4) Propensity to consume 

~ ql; xlOl'II, ffi<l''tI "" ~ ~ % : 

(1) ~ <tT fll'l''tI "<G'~.><II (2) ""'" <tT ~ 
(3) ~ li\<r (4) ~ <tT ~ 

66. The 'Repo rate' is : 

(1) Share brokerage rate 

(3) Short term interest rate 

~G\"%: 

(1) W<rx ~ G\' 

(3) '" <>1 ""1ft,,, "!l"Gf G\' 

(2) Government security discount rate 

(4) Interest on Certificate of deposit 

(2) "tx""~ ~ ~ G\' 

(4) "<if'lT >f'lTUf-<rJi! '" "!l"Gf G\' 

67. Which economist had established the relationship between short term rate of 

unemployment and rate of inflation? 

(1) Milton Friedman (2) A W, Phillips 

(3) James Tobin (4) A R Musgrave 

f<ml 3!~ -it ",<>1",,01 ij ~'l"""~ G\' <I'll ~ G\' ql; 1Wl ~ 'Iir GWrr 'IT ? 

(1) ~ 1!Il",~" (2) 1/0 """'l- Rhlft'" 

(3) -w.r c'tflA (4) 1/0 3!tx 0 'ffi1lq 

68. In the Quantity Theory of Money, the equation MY = PT is incomplete because : 

(1) V is assumed to be constant (2) T is assumed to be constant 

(3) P is assumed to be changing (4) Credit money is not considered 

~ q~'l'" ffi<l''tI ij MY = PT ",ljl""" 3!'!,XI t ~ : 
(1) V 'Iir ft.:rx 'IRT 'f1lT % (2) T 'Iir ft.:rx 'IRT 'f1lT % 

(3) P 'Iir q~q<l,,~fiOi 'IRT 'f1lT % (4) "'t1TXl! ~ "" """~" "It! % 
(20 ) 
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69. It is not the characteristic of money: 

(1) Money is a real value 

(3) Money is an unit of value 

'l"t' WI <t\ f'ih'," d , ;;;ff ~ ; 

(1 ) WI "'" q, «t III '" 'If'l ~ 
(3) WI "'" ~ 'If'l ~ 

(2) Money is a store of value 

(4) Money is accepted by all 

(2) WI "'" <iw! 'If'l ~ 
(4) "WI 'ffIfr liT'IT ""~ ",,4 ~ 

70. Gresham's Law will be applicable when: 

(1) Money supply is less than money demand 

(2) Treasury rate and market rate are equal 

(3) Bad money is not limited in supply 

(4) Bad money is a representative money 

m f.'n:!>! 0fT1& irfr, "'" ; 
(1) WI 'lflI "WI >1M " '!>'! m 
(2) ""'''11<', G'I <l'lT 'IT<i!R G'I "'If'IT'I m 
(3) ~"WI llT?IT >r ~ 'fiff m 
(4) ~ WI lI<fiq; WI ., WI >r m 

71. Condition of equilibrium of a firm under long run equilibrium is : 

,M""", >r "'" q;l\ ., ";\l<'I" <t\ "ffii ~ ; 
(1) MR>MC 

(3) MR<MC 

(2) MR=MR=AR=AC 

(4) MR> MC and/'f'i AR> AC 

72. Point of intersection of demand and supply curve determines: 

(1) Equilibrium price only (2) Equilibrium supply only 

(3) Equilibrium demand only (4) Equilibrium price, demand, supply 

>1M 'f'i 'lflI ~ 1lI..a<;" ~ f.\>!Rur <R<IT ~ ; 

(1) "'"" ~ "$m (2) "'"" 'fig"''' 'lflI 
(3) "'"" ~ >1M (4) 'fig"''' "$m, >1M, 'lflI 

( 21 ) P.T.O. 
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73. The line joining places of equal salinity is known as : 

(1) Isohyet (2) Isotherm (3) Isobar (4) Isohaline 

(4) ",1.ti1~""." 

74. The extent of Hydrosphere on the earth surface is : 

(1) 66 per cent (2) 70 per cent (3) 71 per cent (4) 72 per cent 

~ 'R "''''" .. ''' 'PI ~ t : 
(1) 66 IIRI.,d 'R (2) 70 IIRI.,d 'R (3) 71 IIRI.,d 'R (4) 72 IIRI.,d 'R 

75. 'Donbas' in Russia is famous for its: 

(1) Coal (2) Iron (3) Manganese (4) Petroleum 

(1) ~ <f; ~ (2) ot'ro <f; ~ 

76. Which one of the following is the most urbanised State of India? 

(1) Maharashtra (2) Tamil Nadu (3) West Bengal (4) Gujarat 

~ "1 ~ R; d 1't -,'t q;'t.". 'lffi[ 'PI ~ "'I ~ ,!,d Xl"'l t ? 

(1) !jill",\; (2) dfll",,,,'g (3) ~ ~ (4) 1'""d 

77. Which one of the following is the World·s greatest fishing region ? 

(1) North-west Pacific coast 

(3) North-east Atlantic coast 

(2) North-east Pacific coast 

(4) North-west Atlantic coast 

~ "1 ~ R;d 1't -,'t <P'R firIq 'PI ~ l!f'/<! aBI t ? 

(1) i3ffiT-4~",11 lroRI ac (2) i3ffiT-'l,'I\ lroRI ac 

(22 ) 
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78. World Population Day' is celebrated on : 

(1) 7th April (2) 11th July (3) 16th September (4) 5th June 

(1) 7~ 'lit (2) 11 ~ 'lit (3) 16 ~""" 'lit (4) 5 "!:1 'lit 

79. Which one of the following States has the largest area under Cotton cultivation? 

(1) Gujarat (2) Maharashtra 

(3) Madhya Pradesh (4) Andhra Pradesh 

A ,.., R:i Rli" if ~ f<lR1" Xl"'! if q;tIffi <tr pfiI m 3lfilq;- af?r 'R <tr vmfi ~ ? 

(1) ~"H'" 

(3) lJ'2I ~ 

80. 'Koyali' oil refinery is located in : 

(1) Maharashtra (2) Assam 

'q;1""'~ "ffi;r m..q;.,,<'l' ~ ~ : 

(1) ~g",'\; if (2) 3Rl'l if 

81. 'Alidade' is used in : 

(2) 'n!!",\; 

(4) 3IR! ~ 

(3) Haryana 

(3) gR",'" if 

(4) Gujarat 

(4) !l"''''' if 

(1) Chain and Tape Surveying 

(3) Plane Table Surveying 

'q",l~",' 'I>T l!<ITrr .mrr ~ : 

(2) Prismatic Compass Surveying 

(4) Theodolite Surveying 

(1) ;;R\ir '<'i 'Ilffir ~ if 

(3) ~~~if 

(23 ) 

(2) fllo4l" 'fi'q"ffi "ffilffUT if 

(4) f'i<il:s)<'l'." ~ if 
P.T.O. 
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82. What will be the radius of globe on a 1 : 62,500,000 scale? 

(1) 1 inch (2) 2 inch (3) 5 inch (4) 4 inch 

1 : 62,500,000 lfT'I'fi 1l'{ ¥ft <f; <irR <nT ~ qm tiMT ? 

(1) ~~ (2) GT ~ (3) 'li1'r ~ (4) "lR ~ 

83. Greenland appears to be greater than South America on : 

(1) Bonne's projection (2) Mercator's projection 

(3) Cylindrical equal area projection (4) Simple cylindrical projection 

(1) oR llW! 1l'{ 

(3) ~""'''>I' ~ llW! 1l'{ 

84. The lower most layer of the atmosphere is known as : 

(1) Stratosphere (2) Troposphere (3) Mesosphere (4) Thermosphere 

(1) .,.1<11 4 "Ij;gof (2)~ (3)~ (4) <1'4""'''' 

85. Which one of the following South Asian Country has the lowest density of 

population? 

(1) Bangladesh (2) India (3) Pakistan (4) Sri Lanka 

(2) 'IR<l (3) 4,flh"'H (4) ~ 

(24 ) 
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86. Which one of the following States has the highest number of million cities? 

(1) Maharashlra (2) Andhra Pradesh 

(3) Uttar Pradesh (4) Gujarat 

~ "1 ~ Iti" it "it ~ <l"'l it ~ G ",,,all 'i'f'[ qri) ;;nil ~ ? 

(1) '15"''5; 

(3) """ ~ 

(2) 3liu ~ 

(4) !l"I<I" 

87. Who among the following got the 'Sharat Raina Award' before becoming The 

President of India ? 

(1) Dr. Zakir Hussain 

(3) V. V. Girl 

(2) Dr. Rajendra Prasad 

(4) Dr. S. Radha Krishnan 

'IT'<<I <f; <I'5;qRi ffi "it 't'f f.'r"1it "it f;ptlif>l 'IT'<<I wr <!IT ~'''''''' ~ 'f1IT ? 

(1) ;g(o ~ ~ (2) ;g(o ~ 1Rl1G 

(3) ~o ~o M (4) ;g(o 'f(Io ~''!'"''1 

88. Which of the following is not a feature of the Parliamentary System of 

Government? 

(1) Close relationship between Executive and Legislature 

(2) Accountability of the Executive to the Legislature 

(3) Separation of Powers 

(4) Leadership of the Prime Minister 

~ "1 ~ Iti" it "it "i!lA ~ 'Ii <'I <l1" "" q ~, ~ ~ q\t F<h). <11 ;fflf t; ? 

(1) ",,44 ,~"', ""' ~ it "Eff.'r<o ~ 

(2) ""44'ror",, <!IT ~,f11"" <f; lIflr iil<'l,Glf11", 

(3) lIfiRI <!IT ~\"'t •• ,,", 

(4) ~<!IT~ 

(25 ) P.T.O. 
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89. Which one of the following is not related to Pluralist theory of Sovereignty ? 

(1) Laski (2) Duguit (3) Miss Follet (4) Austin 

(1) ~ (2) ~ (3) fIR! ~ (4)~ 

90. The 73rd Indian Constitution Amendment Act is related to which one of the 

following? 

(1) Defection (2) Panchayati Raj 

(3) Urban Government (4) Domestic Violence 

'lffifi<r ~ <PI 73<!f ~ ~ ~ f.1>.,R>t~a >1 ;ff fin'ff '1'f' ;ff 

~t? 

(1) <;Of""" (2) tjil,~<fl 'ITO! 

(3) ~m<PR (4) ~~ 

91. Which of the following is not an element of State? 

(1) Population (2) Territory (3) Public Opinion (4) Government 

(1) ",,,'Ii,,,,, (2) '}'WT (3) Wl'l<f (4) ."'", " 

92. Which of the following is not a Member of SAARC ? 

(1) Pakistan (2) Sri Lanka (3) Myanmar (4) Bhutan 

(1) q,fi\>«II" (2) .,ft'""'" (3) "Ii'lR (4) 'J.CA 

(26 ) 
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93. On which date was the Constitution of India adopted by the people? 

(1) 26th November, 1948 (2) 26th November, 1949 

(3) 26th January, 1950 (4) 15th August, 1950 

'1ffi'f "ill! ~ f<Rl f1If'r <pj <'f1;ii ~ llffi ~ (3N'IT'lT) f<lurr 'T<!T 7 

(1) 26 'f'Il'R, 1948 <pj 

(3) 26 iif'I1ii\, 1950 <pj 

(2) 26~, 1949 <pj 

(4) 153!1ffi!, 1950 <pj 

94. Who was the Chairman of the Drafting Committee of the Constitution of India? 

(1) Dr. Rajendra Prasad (2) Dr. B. R. Ambedkar 

(3) Jawahar Lal Nehru (4) Dr. K. M. Munshi 

~ ~ q\'t ]:Iffil! ~ ~ 3W!1ll <W! o! ? 

(1) ,gro ~ lffiT<: 

(3) ;;rqw( orR'! m 
(2) ,gro ~o 3lT'[0 "'~:Sif;, 

(4) ,gro ~o 1('10 ~ 

95. Who of the following was not a member of 'The Swarajya Party' ? 

(1) Moti Lal Nehru (2) Madan Mohan Malviya 

(3) Ballabh Bhai Patel (4) Lala Lajpat Rai 

f.1", fcl fllI" Ti ,'r <W! 'l'I' "" 1 "" 'I1tl' ~ ~ omr o! ? 

(1) .,)<11«161 m 
(3) ~~~ (4) "6IT6IT 611'" 4<1 '<T'! 

96. Which one of the following does not find a mention in the Preamble to the 

Constitution of India? 

(1) Federal (2) Democratic (3) Secular (4) Socialist 

f.1", fcl fllItI Ti ,'r f<Rl 'l'I' "" ~ ~ q\'t 'ittl '''~' Ti <3<ci.. omr t; 7 

(1) ~ (2) '1<iIItli8lif; (3) ,,<\f.1'~1ll (4) ""'''''"G~ 

( 27) P.T.O. 
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97. Which one of the following countries is governed by a Federal System ? 

(1) China (2) Sri Lanka (3) England (4) USA 

(1) $I (2) ~ (3) ~ (4)~ 

98. Which one of the following countries is not a Republic? 

(1) India (2) England (3) USA (4) France 

(1) 'fR(1 (2) ~ (3)~ (4) lfflr 

99. Which one of the following is not a characteristics of Sovereignty ? 

(1) Indivisibility (2) Inalienability 

(3) Non-Transferability (4) Plurality 

(1)~ (2) ~ 

(4) "s""] 

1 00. Who of the following is not a Social Contractualist thinker? 

(1) Montesquieu (2) Hobbes (3) Locke (4) Rousseau 

(2) o'ioff (3) oif<I> (4)~ 

(28 ) 



~~~f.li{~1 

(." ~ <I; ll'l'! 3!1'R"T-'l'" <R _ "'f{-q" <I;<ir.if ~"r q, <I;.ct "4r.it/q;n;/t ;m;r-~ .r.rfl 1ft r..~) 

1.11'1'1 git<1<1>' fi1<;R <Ii 10 fiRe <Ii 3RX 1ft ~ ~ f<l; ",..,q~ ij <I'l\ ~'" >i'I"&G ~ 3fR1fir~ 
11'1'1 'lP "I1l! ~, git<1<1>' Gl"gtt> qJir U!R 1R ~ 'l:'I"l ",<1>,<'1 <l>aJ f.I~aJ<I> 'IiI<t",~ 

~ ",.,q~ ql\ ~ git<1<1>' ll1'<! "<I>'{ ~, 

2. qm 'If1r'I ij {&q;Iq;1 ~ JiW:-rpJI" <f; ""Fn~rf.R~<rn". ~ 'IT WIT 'iii{ 1ft '¥IT 1fifITUT Wl ~ 
, ..,,-ij , 

3. i3'ffi[-~ 3l"<'I'T ;ff ~ 'T'lT ~ I ~ ., '" J#' 3ik ., tit ~ <R I '(.'(ffl ~-rpJI" '1tIt 
f<tw iil/4'n I <Ii<r.r ~-rpJI" '1fT tit 'It'Iiq;., fitR1r """'" I 

4. 3f4'IT "'jiIi~/"" fffIT ~-rpJI" '1fT iffJfi"q; JlOPf "'IQ,"I-'["3" W q.,. ~ f.'I'ltfu! ~ 'N 

~I 

5. ~-rpJI" <f; rTfl'f '["3" W q.,. ~ I1fCT'fT "'jiIi~/"" fll'lfR" ~ W ~ fflllT -.fI;f ~ rffi' "* ~ 'Iff ~ I Wi!'! -Wi!'! "'/4I'1q; ~ qfff Wl'f-!j{fflq;1 '1fT iffJfi"q; fffIT We '1fT .."..,. 

e1W~W~1 

6. We '!'Ie 3!Re ~ 1R 31ji1>~i<l> ifffi'lT. lI'I'I-git<1<1>' ifffi'lT q ;ffc ifffi'lT ~ 'iii{ lil) dOl' 

1I'I'I-git<1<1>' 1R "'j",~i1fi ifffi'lT 3fR We '!'Ie 3!Re ~ ifffi'lT ql\ "f4f?e41 ij "qROI'lI-l <I>~ 

~ "I1l! tl 
7. "q1"" "f4f?e,,1 -It 'iii{ 1ft qRod., _ A~aJq; 6RT ~ oRr ~ <Jr"'l\!!f 'IS' ~<I> 

31'j1'1m ~ q;r lI'lT>T 'lAT ;;n>frrr I 

8. lI'I'I-git<1q;, ij lI<'I"q; lI'I'I <Ii "'" ~q;~<I> i3'ffi[ ~ -.m ~ I JtW<t; JWf <f; 4q;ft;qq; ~ <f; 
r.,-q ~ ~-rpJI" qJt 'II",/itt" ~ <f; 'IIT'f't ~ 7f# '{ff "* ~-rpJI" <f; rTfl'f '["3" W 

~ 7f# f.rfflf <f; 31J'IIT< q.,. ~ ~ 'Iff'1I g I 
9. lI<'I"q; lI'I'I <Ii i3'ffi[ <Ii !WI ~ "'" 1ft <[<I 'iii = 'I>~' "'" ;ff 3lf'rq; '[ffl 'iii 'lTi!T1fi<') 

1R 31'lG1 "'" <[<I 'iii 3!'!"1 ~ 1R q;; i3'ffi[ 'R'I<I 'lAT ~rr , 

10. """ ~ tiP '{iii '"' <'lIIIft imT aifiI;-cr ~ """" '1tIt wr 'I/"ifif/T g I ~ 3fI1l f4R\\ ~,., 
q;r ~ '1tIt rhr ~ ~ <iT ~ 1jf<ffi- <Ii xwR ~ -.m 'ff4\ '[ffl 'iii ~ ,,'I<; <'( I 

tfl lI'I'IT 1R 'IJ:'I 3i<t>" ~ ii!f1loT I 
11. "" q;r-,j <Ii !WI ." git<1q;, <Ii "'!l"'''''~''''''' <Ii 3i<:< <rr<'IT ~ ""lI 3ifWT ~ ~ '1>1 >141', 

'lR1 
12. qm <Ii "q,I'\' JWf-!j{fflq;1 -& ~rpJI" ~m 'If1r'I ij "l'!T "<I>'{ i! I 
13. qfu!r "Wfl'(j ~ ;ff ~ qfu!r 'If1r'I ;ff 'Ill'< U!R ql\ ~ "I1l! tit>\\ I 
14. ~ 'iii{ ~ qfu!r ij 3IjImr ~ q;r lI'lT>T <!fffiT t <iT q;; fil"",,,mf4r.o:<l'""<'Irn4 6RT f.Ia~d 

G'<: q;r / ql\ 1J11ft lil'lT / tit>\\ I 
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